MTH 132, Section 13 Quiz 2 Jan 27th, 2017

Name: ID:

Clear your desk of everything except pens, pencils and erasers. Show all work clearly and in order. No
notes, phones and calculators. You have 10 minutes to finish the test for 10 points.

ONLY THE PROBLEMS ON THIS PAGE COUNT. The last one on the back is not
required, but will be graded if you finish it.
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MTH 132, Section 13 Quiz 2 Jan 27th, 2017

(% NOT REQUIRED. DOES NOT COUNT IN YOUR QUIZ CREDIT. The problem is of
actual exam difficulty level. It is recommended to try it to check whether you handle the
materials well enough for the exam.)

For what value of a does
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